Sol. (¢) We have,

1 =2 5
A=[2 a -1|=86
0 4 2a
= 1(24* + 4) - 2(-4a - 20) + 0=86 [Expanding along C,]
= a*+4a-21=0
=5 (@a+7)(a-3)=0
= =-7 and 3
~. Required sum=-7+3=-+4
2x 5| |6 -2
Sol. (c¢) We have 8 - 7 3
= 2% -40=18+ 14
=5 2%=T2
— ¥ =136
x=%6

Solution Applying R, = (R, + R, + R,), we get

x+4 x+4 x+4
1 X 1
3 2 x

Taking (x + 4) common from R , we get

1 1 1
1 x 1
3 2 x

A= (x+4)

ApplyingC, - C,-C,C, - C, - C , we get

| 0 0
1 x-1 0
3 -1 x-3

A=(x+4)

Expandingalong R,
A= (x+4)[(x—-1)(x—3)—0]. Thus, A= 0 implies
x=—4,1,3



1 cosC cos B
Sol. |cosC 1 cos A
cos B cos A |

l(l—cos A) cos C(cos C—cos A - cosB)+cosB(cosC cos A - cosB)
—sm A—cos*C+cosA-cosB- cosC+cosA cos B - cos C — cos’ B
=sin’ A —cos’B+2cos A - cos B - cos C—cos’ C .
=—cos (4+B)-cos(4—B)+2cos A cos B-cos C—cos’ C

[+ cos® B —sin® A =cos (4 + B) - cos (4 — B)]

=—08 (—C) - cos (4 -B)+cos C(2cos A -cos B-cos ()
=—0s C(cosA-cosB+sinA-sinB—2cosA-cosB+cosC)
=¢0s C(cos 4 - cos B—sin A4 - sin B - cos C)
=cos C [cos (4 + B) —cos (]
=cos C (cos C—-cos C) (As cos C=cos (4 + B))

=0
Sol. We have, ' '
1 1 sin3@
-4 3 cos20|=0
7 -7 =2

Expanding along C;, we get

sin 30x (28 —=21)—-cos 20X (-7-7)-2(3 +4)=0
7sin360+ 14 cos 26— 14=0

sin 38+ 2cos20-2=10

(3 sin 6—4sin’ @) +2(1 -2sin”G)-2=0
4sin°0—4sin* 0+ 3 sin =0

sin &4 sin” @—4 sin 6+ 3)=0

sin &(4 sin” 8- 6 sin 8+ 2 sin 8+ 3)=0

sin @2 sin @+ 1)(2sin 6-3)=0

sin @=0 or sin 8=-1/2 or sin 8= 3/2
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sin 0= 9 is not possible



